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1
1
g2l 100g/HEER

sl B= [uxi [#ex2 [#eEs | #REd
FANSEER ASP 0.29 0.22 0.26 0.23
JIASUER GLU 0.73 0.99 0.59 0.88
EFO&%<-70') | HPRO FiEH
+1) SER 0.05 0.04 0.03 0.03
FVris GLY 0.04 0.03 0.05 0.03
EAFL HIS SEF+5
291 TAU 129] 11l 101 1o
FIL¥= ARG Tl
AlLF=2 THR 0.08 0.06 0.06 0.05
F ol g ALA 1.56 1.37 1.14 1.06
Jay PRO 0.09 0.07 0.08 0.06
FO TYR 0.01] T#HH 0.01] THH
AU VAL 0.03 0.02 0.03 0.02
AFF= MET SEF+H
DATFAL GYS THH
a4 ILE 0.02 0.01 0.02 0.01
o4 LEU 0.02 0.01 0.02 0.01
FI=NTFTS= PHE SES+T
B> LYS 0.01 0.01 0.02 0.01
Total 4.23 3.99 3.32 3.40
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